Name:_____________________________________ Hour:________________


Chemical Equations

Explain in words what each of the symbols mean that are from the following chemical reaction:


Mg (s) + 2HCl (aq) ( MgCl2 (aq) + H2
1.
Mg 
________________________________
6.
(aq)
_________________________________
2.
(s)
________________________________
7.
(
__________________________________
3.
HCl (aq) ____________________________

8.
MgCl2(aq)
___________________________

_____________________________________________             ____________________________________________
4.
2
________________________________
9.
H2
_______________________________


5.
+
________________________________
10.
(g)
________________________________
Write a skeleton and then a balanced equation for the reactions below
11. Aluminum metal burns in pure oxygen to produce solid aluminum oxide.
Skeleton equation

_________________________________________________________

Balanced equation

_________________________________________________________
12. When solid mercury (II) oxide is heated, it breaks down to form liquid mercury and oxygen gas.

Skeleton equation

_________________________________________________________

Balanced equation

_________________________________________________________
13. A solution of ammonium sulfate added to a solution of lead (II) nitrate, forms soluble ammonium nitrate and solid lead (II) sulfate.
Skeleton equation

_________________________________________________________

Balanced equation

_________________________________________________________
14. Copper metal and iron (II) nitrate in solution are formed when iron metal is added to a solution of copper (II) nitrate.

Skeleton equation

_________________________________________________________

Balanced equation

_________________________________________________________
15. Hydrogen sulfide gas reacts with oxygen gas to form water vapor and solid sulfur.
Skeleton equation

_________________________________________________________

Balanced equation

_________________________________________________________
Balance the following equations
16. _____ P(s) + _____ O2(g) ( _____ P4O10(s)


17. _____ Fe(OH)3(s) ( _____ Fe2O3(s) + _____ H2O(g)

18. _____ Na2CO3(aq) + _____ Ca(OH)2(aq) ( _____ NaOH(aq) + _____ CaCO3(s)
19. _____ K3PO4(aq) + _____ MgCl2(aq) ( _____ Mg3(PO4)2 (s) + _____ KCl (aq)
20. _____ Mg(HCO3)2 (aq) + _____ HCl (aq) ( MgCl2 (aq) + _____ H2O (l) + _____ CO2 (g)
21. _____ Bi(NO3) (aq) + _____ CaI2 (aq) ( _____ BiI3 (s) + _____ Ca(NO3) (aq)
22. _____ Cu (s) + _____ H2SO4 (aq) ( _____ CuSO4 (aq) + _____ H2O (l) + _____ SO2 (g)
Choose the correct symbol for the type of reaction.  Place that answer in the blank at the beginning of each equation and then balance each equation correctly.


S = synthesis



SD = single displacement


D = decomposition


DR = double replacement



C = combustion

1. _____ Na (s) + H2O (l) ( NaOH (aq) + H2 (g)

2. _____ CO (g) + O2 (g) ( CO2 (g)

3. _____ FeS (s) + HCl (aq) ( FeCl2 (aq) + H2S (g)

4. _____ NaNO3 (s) ( NaNO2 (s) + O2 (g)

5. _____ CH4 (g) + O2 (g) ( CO2 (g) + H2O (g)

6. _____ Fe (s) + CuNO3 (aq) ( Cu (s) + Fe(NO3)2 (aq)

7. _____ KI (aq) + Cl2 (g) ( KCl (aq) +I2 (aq)

8. _____ Al (s) + S (s) ( Al2S3 (s)

9.  _____ KClO3 (s) ( KCl (s) + O2 (g)

10. _____ C4H10 (g) + O2 (g) ( CO2 (g) + H2O
